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GENERAL AWARENESS

1} Who resigned as the president of the
central African Republic on 2014
January 107

1) MNicolas Tiangaye
2) Francois Bozize
3) Michel Djotodia
4} Abakar Sabon
3) None of these

2) Which is the first country where
Wimbledon has run ‘“The Road-
to Wimbledon® tennis event
outside the United Kingdom?

. DUSA  2)Serbia  3) Russia
4) India 3) Switzerland

3) World Music Day is celebrated
every yearon 7
1) June 20 2) June 21
3 June 24 4) June 23
5) June 27

4) Which of the following books is
written by Romila Thapar?

1) The Reason for God-Belief in
an Age of Scepticism

2) The Sceptical patriot

3) Physics of the Future The

Inventions that will Transform

Our Lives

4) The Past as present-Forging
Contemporary Identities
through History

5) None of these

5) Catherine Samba-Panza assumed
office as the interim president o

which of the following Africs

Countries on January 23, 2(

{She is the first woman to by
the post)

1) Niger

4) Namibia

5) Central Africs

2)Chad

the Moortidey
On June 13,72
eminent

1} Omer Beriziky Roger Kolo
2) Hery Rajaonarimampianina

3) Andry Rajoslina
4) JeanLouis Robinson
5) Mare Ravalomanana
8) Which country’s head of state
has the largest name?(His full
name has 44 characters )
1) Madagascar 2} Bhutan
3) Argentina 4} Indonesia
5) Mali
9) Who won the prestigious DSC
prize for south Asian Literature
for 2014 for his book
‘Chronicles of a Corpse Bearer ™%
1) Jeet Thayil 2) Cyrus Mi
3) Amitav Ghosh
4) Shehan Karunatilak
5) None of these
10) Cristiano Ronaldo i
renowned footballe
1) Brazil -
3) Portugal 1
5) Netherlands

; people belonged to
categories like NRIs, P1Os.
Foreigners and Posthumous.
4) Raghunath Mashelkar
{Scientist)and B.K.5.Iyengar
{(Yoga Guru) are the padma
Vibhushan awards
5) Film actors paresh Rawal
and Vidya Balan were given
padma Bhushan awards
12) Two sportspersons were given
padma Bhushan awards.One is
pullela Gopichand and the
other is?
1) Anjum Chopra
2) Sunil Dabas
3) Dipika Pallikal
4) Leander paes
5)Yuvraj Singh

13) Who,among the following

pdma Bhushan awardees, is an
author?
k. Ra

hakrl Fhna

alveeri3handari is one

pnadma Bhushan

is year. He is 7

Mief Justice of

ibay High Court

& Chairman of National

uman Rights Commission

¥] Member, [nterbational Court

of Justic

4) The Chairman, Mational

Green Tribunal

5) None of these

15) Yu si was conferred the Tamil
Madu government’s
Thiruvalluvar award in January
2014 yu Si is a poet from?

1) Taiwan 2) Thailand
3) South Korea 4) Laos
5) Vietnam

16) Lisa Maria singh is one of the
winners of the 2014 Pravasi
Bharatiya Samman.She is a
Politician from?

1yCanada  2) Fiji
4) Australia  5) USA
17) The 12™ pravasi Bharatiya
Divas (PBD),the annual
convention of Mon-Resident
Indians(NRIs) was held in
which of the following cities
from 2014 January 7 to 9 7
1) Kochi 2) Jaipur
3) New Delhi 4) Mumbai
5) Kolkata
18) The theme of the 12* pravasi
Bharatiya Divas in 2014 is
Engaging Diaspora?

1) The Indian growth Story

2) The Emotinal Connect

3) India’s Growth and

Development

4) Connecting Across
generations

3) None of these

3) UK



A Rpmwe= Asmnow kumar Ganguly
== 25 the chairman of
=T of the Tollowing states
Y man Rights Cnmmlsslon i
Janvany 20147
i) Assam 2) Haryana
) Odisha  4) Meghalaya
5) west Bengal

207 Aditya Joshi is the first male
Junior player from India to be
ranked world number one in
which of the following sports?
1) Squash  2) Badminton
3) Tennis  4) Golf 5) Snooker

21) Against which team did Corey
Anderson of New Zealand score
the fastest one day international

century?

i) Pakistan 23 India

3) Australia 4) Bangladesh
5) West Indies

22 The International Olympic
Committee (10C) was

established in .......
1) 1902 2) 1884 3) 1972
41814 5) 1894

23) United nations and IOC on 28
April 2014 signed a historic
agreement, recently. With the
objectives of using the power of
sports to promote peace and
economic development across
the world.In this context,

IOC means......

1) International Olympic
Committee

2 Indian Olympic Committes

3} International Olympic
Collegiums

4) International Olympic
Consortium

5) None

24) Which state Assembly session

held at Garirsain in Chamoli

from 9 June to 11 June 20147
This is the first time the session
held out side of the capital?
1) Jharkhand  2) Chhatiis
3) Uttarakhand 4) Bihar
5) AP

25) Mandovi river is in the stat?

3) Dem,m ‘Bc JFi
Clpcrate and Tra
4) Design, Build.Finance,
Operate and Transfer
3) Mone
27) On 27 June 2014, Union

Ministry of Commerce
and Industry upgraded the Nic
1987 to NIC-2008 to make it
more Industrial friendly NIC
stands for...
1) Mational indo Classification
2) Ninth Industrial Classification
3} Mational Industrial
Consortium
4) Mational Industrial
Compotition
3) Mational Industrial
Classification
28) B.C. Roy received which
highest award in 19617
1} Padmasri  2) Bharat Raina
3) Padma Bhushan
4) Padma Vibhushan 3] None
29) “Mational Doctors™ day
celebrated in the memory of
1) Susrutha Birthday
2) Charaka Birthday
3) Dhanwanthari Birthday
4) B.C. Roy Birth day
5) None
30) *National Doctors’day
celebrated on......
131 June 231 Ap,
4y 1 July J}Tscne
31) ‘]ndusmal Re ;

- Raw Subramaniam
P, Subba Rao
4f Manmohan Singh
5) None
) Moorthi devi award given by
1 UNO
2% Noble foundation
3) Bharatiyva Jnanpith
foundation
4)'Government of Odisha
S)Nome
35) Theekkadal katanhu
Thirumadhuram is the novel
written by Malavalam writer C
Radhakrishian. He recently
selected for the......
1) IJnanpith award
2) Saraswathi Samman ,
3) Vyas samman
4) Kalidas samman
5) Moorthidevi Award
36) Which Indian-origin judge
appointed as the eighth
attorney —General of Singapore

1) Dalwari G-amze = I

2} Kala Varsa z
3) V.K.Rajah
4) Santosh kumar Azz—
3) Nane

37) Columbia capital is Bogot:=
and its currency is 7
1)Real 2)Lira 3)Peso
4) Dollar 3) Pound

38) On 15 June 2014, Juan Manue
santos again elected as the
president ol", .....

ph mountains
al Mountains '
Andes Mountains
Antarctica
5}y None
0y USA named a mountain in ...
as Mi.Sinha to *honour an
eminent Indian —American
scientist, Akhouri sinha on
30 June 20147
1) Antarctica
2) Himalayas
1) Scandinavian Mountains
4} Arctic circle
5} None

GENERAL ENGLISH

Directions {41-50) : Read the
following passage carefully and an-
swer the questions given below jt. Cer-
tain words are printed in bold to help
you locate them wtujeanswcﬁngsome
of the guestions.

The yearly festival was close at.
hand. The store room was packed with
silk fabrics, gold ormaments, clay bowls
full of sweet curd and platefuls of
sweetmeats. The orders had been
placed with shops well in the advance.
The mother was sending out gifts to
everyone.

The eldest son, a government ser-
vant, lived with his wife and children
in far off lJands. The second son had
left home at an early age. As a mer-
chant he travelled all over the world.
The other sons had split up over petty
squabbles, and they now lived in
homes of their owri. The relatives were
spread all across the world. They rarely
visited. The youngest son, left in the
company of a servant, was soon bored
left her and stood at the door all day
long, waiting and watching. His moth-
er, thrilled and excited, loaded the pre-
sents on trays and plates, covered
them with colourful kerchiefs and sent
them off with maids and servants, The
neighbours looked on.

The day came to an end. All the
presents had been sent off.

The child came back into the house




and dejectedly said to s o
M, ¥ GV 8 PIESETE IS AT
n'ut}wﬁm‘tﬂ\t#ﬂ'."'-:'—'-‘-"—

His modier Laushed '-'l-l“E!:""";
all the m"mﬂ

mﬁnheﬂ
mm:ﬂﬂmmamuﬁﬂ\m

“Don't ] geta gt 7
Yo T gt wwher you go far away”™
"Bt when | am £lose Lo yoe, don't
1 gt semething frien your awm hands?
His mather reached out her arms
and drew him to lver. “This is all | have
in my can hands. It is the mosl poe-
olnus of all.”
41 Wiy did the woman's second son
travel 7
(11 He was rexties by mature
(2] He did ot wanl Do stay ol
home
(3 He was rich and could afford
Lo dravel.
(4] His fobwas such that he had
o Eranve]
{51 Mone af these
4, Why did the woman's sldest san
ot sitbend the festival 7
{1} He was not cn good terms
with his voungest brother
wlig e At homes
12) He had gquarrelled with Tis
mother

(3 His wife did not allow him to
refiirn hame

[4] Hiz job prevented him [ram
taking leave

(3 Mone of These

43, Hive did the woman prepans foe”

the festival?

(A She boughl expenshes
her children and s

{H) She cedered her servants (o
prepare sweets and food well
inadvance,

Kl She made surs that her
Voumgest child was looked
alver 20 that he wouldn't be
bared,

(1§ None (2} Omby (A

1% Craly (B

14] Beoth (] and {B)

(5] A AL (B amd (E)

44, VWhat did muymnmtchlld cip
while his mother was

& He walled lar a

rak’a good
slnce ber children had beft
heerve Al an sarly age

(4 5he enjoyed sending her fam-
By glits at Festival tme

(4]} She gave expansbve presents

ta show that she was wealthy

151 She rarely visited her pramit-
chilihrin becayss they all Bed
abrasd -

46, What did Ihl.-hng,rmmua frien

his meather 2

{1} She taught him the valoe af
patlense

2] She encouraged Iﬁm o grow
up and tive indegendenthy
ke his brosher

(3 She showed him the impaor-
tance of ghving expensdne: gils

(4] Ehe: gawe ldim 2 bug ko express
hier b

5] Nooe of thess
47, Which al the lollswing s TRUE
i thi conlext of the pmn,;:'?
{1} The woman uanally ignored
Tl youngest san.
12} The woman's eldest son lved
abroad

{3 The members of the woman's
farmiby did mot care abaut her,
(4] The woman msdi 68 (e prep-
arations hersell since she did
not want o burden the ser-

(8] The woman sent gifts to
chifdren to ensure that
visied her,

‘Hons [31-55] : Head each
: bo find owt if there Is any ex-
n it The error, if any, will be In
art of the senienee, The number

At part is the answer, I thers s

i o, The ansser is (5. [I8nore er-

rors of puncluation, i any

81. Many multinational companies
{11/ have not been as (3)) sue-
oesadul In India (3] than we ax-
pected. (40 Mo error (5)

B2. He has rulmed {107 his evesight
120/ by mod walng (307 ki apee-
tacles peghelaly, [4)/ Mo errar [5)

53, Maostly of the (11/ newhy recruit-
ed cfficens (2)/ have no experi-
e (34 in the banking sectar.
141 Mo ermor [S]

j." . Tl'l:l.-red@uﬂm‘inl't]]liuq:dqur
directors (21 have coused the
price {31/ of shares to fall. (4
Mo grror (5]

B5. Thepe are many (1) waves of
which (2)/ inllaticn can (31 be
mzasared, () Mo ermar [(5)
Directions (86 - 80 : Which of

the phrases (1], (2], (3} and {4) given

below should replace the phrase giv-
en in'bold in the following sentence ta
mike the senftence grammaticaliy
meaningful and correct. [fthe sentence
is correct A% it Is and "No cosrection 1S
requiired’ mark [5) &5 the anewer.
BE. Emch of the lods sl be af-

proved oy the Branch Manager.

[B) Exery loan

[ Exch ane of the loan

(3 Aoy of the boan

(4] ALl of The boan

(5] Mo carrection required
BT, The iasee was taken befare the

Mipeipal Corporation mseting

nipecdlon fequeired
: inked for the names of
0 mlmh‘wﬂrﬂd in the

having asked aliout
) was asked that
i} is asking
151 Mo correction requibred
5o Considerate the (ralbie; it b by,
beer-tis B Fise e EGPPTL fars haygy
earhy.
(1] While considering
2 Consideration of
3] Considering
1) Being considerats to
15 Mo cdomection regudred
60, He i8 a4 good leader,
that (o motivate his emplives
Lo achieye,
{17 thal knawn wihen
[Z} w0 knooes hoy
[A] which knows Bow
(4] knowing what
(3] Mo-coerection Tequired
Directlons [B1-65) ; Rearring:
the Following six sentences (4], (B, [0
00, (3 and {F) in the proper segquens
to form a msaninghl paragraphc then
answer the questicns ghen below then

(A Thee alle bedied men af the it
mﬂmmmlﬂ“
the mounkain

2] mmdrhelrplunﬂ:ﬂnaihq
kidnapped a baly of cne of the
{amidies.

(3 One day the moentain tribe o
vad-pdﬂiuq:lhﬂh‘n“‘tﬁ'-'ﬂlﬂ-

(00 “We ool e eiimi tie mcuntain
How could you 70 they asked
*It wasn't your baby 17 she 18
plied.

{E] There were two tribes in the
Andes -pne Bved in the valley and
the siher high wp in the moun

Lairies.

[F} Twa days later thiey nuoticed the
chilld's mather cafhing down the
ErarTiain that they Tt yet g
e ot Teow Lo-Clisk.

B1. Which of the [ofowing shaould be
the BECOND seniencs adter rer
T -

i A 1Z] B
e 14 &
= E



B Which of the fodlpwing shanald b=
the FIFTH sentence affer rear-

-

mFrF HE
12 D i
i=e

3. Which of the foliguring shoqild be
the PIRST senternce afler rear

TRAEEMEnLT
(1] A 2B
3 (4] &
. EE
B, Which of the fallowing should be
the SIXTH [LAST) seatence al-
ter rearsangemient?
10 & 21 8
o [4] v
iHE

68, Which of the followig shoukd be
the THIRD sontence after rear-

rAngerEnlL?

(3 A e
[3c D
6] E

Directions (66T} : In =ach
queesticn below a sentence with four
witds printed in bodd type ks ghven,
These are nusmbered as (15 (20, (3) and
il O of these tur words printed
in bodd may Le silher wrongly spelt
or laappraprlate in the condext of the
pentence, Find oul the word, whilch is
mm&#"wﬂw

The nurmbes of that word is your an-
swer. [f all the words printed n babd
are correctly spelt and alsa appropr-
atez iy the conbexct of the senbence, mark
5 A AN Cormést T8 o anser

B8, The income (1] of many people
oy el (2] Enictiin b ol asdlegisate
[A1F to satiafy (4)) thelr basic
nesds. Al Correct [5)

a7T. He luil-:;-“],-"pl'mpt 215
in oarimg (3] oul instmmetions.
1437 Al Carrect (5}

B8, Therevized (1) rates (217 of in-
beres] will e elffeative (3, lm-
mediataly. (1) All Carrect (5]

B9, Such transactions 11/ are qui-
&t |Z]/ eEpeaslve (317 and thme
consuming (4] for oustomers.
All Correct |5

0. The guldelines |11/ of the n
sehemee (21 are expacted
Lo e Baally 41 soon, Al Coc
et [5)
Ddrectioms [T 1= B0§ : T

‘E-I:lﬂl_rrhu.d.a.n [PE b read the vast
mﬁt'ﬂfhmh:l magnxiries that
he poasessed. This tmproved oy En.
st bo some [TT]. Reading becams
my new. [F8). [T sperding my pock-
€L memey on 4 bcket (0 the cinems 1
began 1o (80} books, This has bened-

ed mee greatly,

TL (Iforward (2} towards
13 backward (4} up
15} around

T2 (1) went (2) ment
Wvisited (4} travelled
151 gome

T3, 1) cared (2} cceugy
W guarded (4] taght
05 plgred

Td. i1} them (2l wham
(3-this 14} nove
i5) which

TG, (1) expensive _ [2) deseTving

{3 belping (4] demanding

15} valuable

T8, (1} opporiunity (2] ability
13 use
{4} encouragement
i achiemmend

TT. (1) distance (2} Estent
3 e (%] lisnite.
15 degress

TH, |1 nctivity 2} hope
13} holrtry (4} duty

i8] worship
79, (1} desplie (] thonggh
i by (i
5l whille
80, (1) ==l 2y
) exchange (4}

w 3P af
il ) 580 2 1080

I3 1240 1) B
51 Mone of these
A - i
BS 3E t-l.i II b
i 2
[llﬂE [zrﬁ;
L 1
65 153
15} Mone aof thess

G, EI26] + G294 = 7+ 3TE24

i BT [Z] G251
i3 TEEZ1 (4] TEmE]
15 Mone of these

2
87, 7= of 168 + 452 = 2000 - 7

¥

1} 163 2 b
[ 170 4 1eaE
(3 Mone of these
B, OFW of 508 - 4% of 372 = 7

(1] 244.64 2 23T.E4
[3] 27644 1) 26002
G Mone of thess

BE. 35% of (7] = 2175895
(1] 671% 2y g217
b 6127 (4 6721
5% Mone of these

W0 T+ 52 x 1F « 257
iLh 124z (2] 902
3 1142 4] 1346
(3] Mone af theae

B (257« (2102 = (7 + 257
I]Hil 12 4%

B53% al D82 + F = E

1) 3asma %] A668.6G4
3 e ag |4) #0%.68
(% Kones of thess

86, 743 + 958 < P of HET

(1} 34 22

(] aa dp 22

15] Mone of these

98, 5829 = 7

(1 77 (2} 53
= 87 (41 93
[5) None of hese

BB+ 5l s 8w qfat
(L) B (2} 545
3 248 (4] 785
[5] None of thipse

Bl G5 of 00 + F - 44% of
00 ~ 179 of 200
(1] 183G 2] 44
[ 2116 [4] 46
I8 Wore af theas

18 = 14 +46
—_—
16x10=25 =7

1 4
["IE ['.'L‘]:]E

ay

m-I-E_E H'.!.%
(5] Mone of thess

L0, Bx B+ [7F = (117
[HE:S 12) 656
3@ 4 27
5 Mone of these

103, What should come b place of the
question mark (¥ in the folleu-
Ing number series 7
1 4 14 45 138 423 7
(1} 1266 2y 1234
(31272 (4} 1216
[ Mone of thess

102, 38 per cont af the firsl number
tﬂwmﬂmmm
r.Whal is the respective ratio
of the first number to the sec-
ool rarmber 2
[hs:4



(2) 16 : 9
(31 26: 19

(4} Cannot be determined
{5) None of these

103. What is the compound interest
accrued on an amount of Rs.
12,000 at the rate of 10 p.c.p
.a.at the end of 3 vears?
(1} Rs. 3,972 {2} Rs. 2,567
(3} Rs. 4,780 (4} Rs. 5,609
[5) None of these

104. The average age of & man and
his son is 54 years. The ratio of
their.present ages is 23:13 re-
spectively, What will be ratio of
their ages after 6 years?
(1) 10:7 2)5:3
@}a:3 (33:2
[5) None of these

105. Asingle person takes 3 minutes
to write a letter, If from 10 am.
to 12.00 noon, 1960 letters are

to be written, how many persons
shn].ﬂd be employed on this job?
{1153 (2) 47

- (3151 (4} 49

3} Nome of these

106, The simple inierest accrued on
an amount of Rs. 9,530 at the
end of 6 years is Rs. 2,860, What
is the rate of interest p.c.p.a?
15 (217
=Ea 4} 11
(5} None of these

107. The cost of 10 chairs and 15 ta-
bles is Rs. 15,525, What is the
cost of 8 chairs and 12 tables ?
(1} Rs. 13,560
(2] R=. 12,420
i3] Rs. 14,840
(4] Cannot be determined
(5] None of these

108, The owner of a gift shop charg-
e5 his customer 28% more than
cost price. If a customer paid Rs.
1,408 for some soft toys, then
what was the cost price of those
soft toys ?
(1) Rs. 1,300 (2) Rs. 1,000
(3} Rs, 1,200 (4) Rs. 1,400
(5) None of these

109, A plot of 715 square feet is avall-
able at the rate of Rs. 3,850 pe
square feet. If 40% of the tptal
cost of the plot is be pait
booking the plot, how jr
the booking amount 7
(1} Rs. 11,10,000
{2) Bs. 11,01,100

(4} Rs. 11,00, H
(5} None of the
110. If the prod

come in pla >of the question
mark (?) in the following gues-

tion?
59.786 + 14,444 » 8,321 = 7
(1) 49 {2) 58

i3 22 {4186

(5) 34

112. A sum of the money is divideg
among A, B, Cand D in the ray,

Df4:51?:llrespcct‘z‘.fely.r[

the share of C is Rs. 1,351, they
what is the total amount aof mog.
ey af A and D together #
(1) Rs. 2,123 (2] Rs. 2.315
[3) Re. 2,565 (4) Rs. 2 885
{3) Nome of these
113. Mr. Madhur deposits an amoun
of Rs. 58,750 to obtain a sim.
ple Interest at the rate of 13
p.c.p.a. for 4 years. What tatal
amount will Mr. Madhur get
- the end of 4 years?
(1} As. 91,230 (2) Rs. 88,950
(3] Rs. 74,760 (4) Rs. 69,540
(5] None of these
114. If an amount of Rs. 96,303 i
distributed equally amongst 33
children, how much amount
would each child get ?
(1} Rs. 2,789 (2] Rs. 2,563
{3) Rs. 2,860 (4] Rs. 2,921 :
[5) None of these
115. The difference between 73% 4
nugber and 58% of the sgine
number is 960, What is

that number ?
(1} 1408 (2) 123
(3 1324 {4) 1436

. 15) None of these
118. One- seventh of as
What will be 5#%
ber?

(1} 164.66
{3) 178.248

LO8)? is added to the squars
of a fiumber, the answer so ob-
miried is 13033, What is the

number ?
(1} 33 {2) 43
(3 a7 4} 47

{5} None of these

118: In an examination It is required

to get 350 of the aggregate
marks to pass. A student gets
32% marks and is declared
failed by 70 marks, Whet are the
maximum aggregate marks a stu-
dent can get ?

(1] B85 i2} 865

(3) 875

(4} Cannot be determined

{5} None of these

120. Which number should replace

both question marks in the fol-

v lowing equation ?
? .97
w8 7
(1) 222 (2) 195
{3) 206 i4) 178

(3] None of these

REASONING

121. In a certain code DATE is writ-
ten as #3056 and STYLE is writ-
ten as *5© T@. How is DELAY
written in that code 7
(1) #@T %0 [2) #C3%E
(3) #@5%E (4) #5968
(%) None of thess

122. Ina certain code DETAIL is writ-
ten as BIMUFE. How is SUB-
MIT written in that eode ?

(1} UJWCVT.  {2) NJUCVT

{4} UJNTVC

¢ pour answer. If more

han one word can be formed

r answer is M and if no such

ah be formed your anawer is N,

1A 21 E

3T 4m

(B} N

124, How many such pairs of the let-
{ers are there in the word FORE-
HAND each of which have as
many letters between them in the
word as they have in the English

alphabet 7
(1} None (2 One
{31 Two |4} Three

[5) More than three

125. Four of the following five are
alike in a certain way and so form
a group. Which is the one that

does not belong to the group?
() 17 {2131

(3} 23 413

5121

Directions (128-120) : These
questions are based on the following
arrangement. Study it carefully and
answer the questions that follow
Te#I1J1%LE3IK2 @A
H7B@2D2USR4*S
126. Four of the following five are

alike in a certain way on the ba-

sis of their position in the above

arrangement and so form a

group, Which is the one that does

not belong to the group?
[13J11 2) EL2
(3 @A [4) THE
(51 R4S

127. What will come In the place of
the question mark (7) in the fol-
lowing series based on the above
arrangement?

6l %E3 ©9AH 7

(1B 2 [ATaD
(3) TBD (41 BDZ
{5) None of these

128, If all the vowels are removed
from the above arrangement
which element will be sixth to the
right of fourth element from the
left 7
{1} 9 [2) K
33 4) @
i3) Mone of these



128, How many such symbols are
thvere Ln the ahove Rrrangement
each of which is immediagely pre-
ceded by o number ¥
11} Hone 2] O
[3) T ) Thre=
(5} Mo than thres

180 Which slesnenit is Bt bo the ight
of ebeventh from the'right end?
1.6 =2IU |
131 1 s :
5] Mone of these
Darections (131-135) ; In =ach

question telow are (heee statements

followed Ty twa conchisions numbered

[ and I, Yew have tn (ake the thres

given statesnents to be true even i

Eheny seeam to be o vartance froem com-

manly facts and then decide
wihich &l e gheen conclusions Togh-
caily Follows froem the Uhres slalaments
digregarding commuenly knows facts 7

Give answer (1} if only conclu-
séan [ follows.

Oive answer (2} if only concia-
aean [ fillows, .

- Give asewer (3) If cither conclu-

gian | ar conslusion I follows

Cive answer 4] i neither con-
cheaion [ nar conclusion [ follows -

Hve anewer (5] i bhoth comcla-
sions | and 1 Edllow.
131 Stabements :

All R Are wells,

Some wells pre canals.

All canals are rivers,

Cemchagdome ;

1. Some rivers are Eaps.

11, Same weil are rhers.

e tham nor equal 0B85

“A % B means ‘A s netther small-
e¢ than nor preater than B°

‘A5 B means A (= nal greater
than B

“a o B peans A ts nellher great-
er than nor equal (e B

In each of the following questions

assumning the gven statements to be
trse, find out which of the twe con-

clusiong Fand [ ghoen below them s/
" are defindbely true.
Eve answer (1) B only conclu-
sion 1 {8 true. )
Give answer (2§ if cnly conclu-
mian il is drwe.
Glve answer (3] ([ efther conchu-
glon Lor Il s trae.
Give answer [4] I neither con-
chasion | mor conchasion £ is true.
Gilve anawer (¥ if both conclu-
slons 1 and 11 are Emee. :

132, Starements :
Same files are pagirs.
Same Papers are books.
All boghs are joumals
Comchesdons ;
1. 3ame papers are journals. EdE
10, Soame: fibes i foarmals 4
133, Salcmonis ; . . @ H-R-
Some apples RTe grapes, i. Wa8HK
Some grafes Ar Mangoes. 8 (141=148) ¢ Incach of
No mangn s guava. fons a group of letters
Copchssions : d by four mmnmw:ﬁ
el S Epp. E:mﬁMHMmmtupemdr
. Mo guava is apple. : G Eahe pr ol
I ) e below. The sertal numbser al the
camibdnation that correctly

repeeEents

rhegrmpadmaaia:.rwrmuf.ﬁ

picn= of the combinations 8 cormect

yaur anstoes s (5 I.=_.='l!'h|n of these',

[Uenar RV T[R]RTF AT 2w (2 [0 ]a]u

[Cogn [zl ale e 66 o T]z]=]s]2
Conditlong

@ Ifthe first letter nthe grouap

{a@ vl and last letter is a

.mnn-nanllhcirwdtllmtu

be interchanged.

(i B the flrst betier in the graup

= 5 consonant and Easl bEdler

15 & verrel ot are (o be cod-

ed by the code for vowel,
{0 1 thes flrst as well as the Last
lether 18 o vowel bodh are fo

and # are used with different mean-

s be coded by thie code for first
‘A & B mean ‘A ts not smaler Jeiter

et 141. TRHMEL]

A E R waeare 4 ve maiihar eemall

[y raates 2 2.:7s.
[ reaTad  fa.33:"a-

: 5] Mane of these

142. TFIKAR
(1) 4970E% 2] 437=72
(3 HETAGK  [4) WSEeTL
150 Mone of these

148, MHEIHG
MmozsgzeT WTag2e"
@TagovDyoaaire

15) Neme af these
144, FIKLELF

11} STHEE 12 ST0dS
ol BT S 4] 8T a0dS

i friends B M, L, H, F. D
sibling arpund a circle facing
. L i secomd to the right of
0 s to the immediate right of ©,
5 Is thind to the beft af O and to the
mrmediate rght o[ F,
148, Who i= third to the bt of "C'F
mL 2K
i F MK oar ¥
5} None of these
147. Which of the felkwing pairs of
persans represents the neigh-

Bvoners al KF
i 21
3 ML {41 CH
18} Mone of these
L4B. Whao la Lo the Friamediate right of
L7
1K (2
4 H [
5] Mone af (hese
148, Wha is second 1o the right of v
TR [ZL
-H D HF

5] Mone af thess
150, Which of the following pairs 5

persas has the frst persan g,

ting to the immediade rght of s

and person ¥

{th DL [Z] KF

h CH (41 DH

15 Wt of these

Drectons {15 1-158) 1 Study b
{odlowing information carefully to .
sweT Lhese questions,

Seven friends P, @, L5, T 1
and ¥ are feathing duTerent subjom
Mathas, Phiyabcs, Biokgy, English, Hi
Loy, Paychalogy and French not se
eaparily in the same order. Each o
of them has Bking for a ddfferens o
lour Pink, CGreen, Blue, Red, Yellm
White and Orange again not mecesss:-
Iy in the same arder.

T teaches Biology and iizs
Green colow®eachss hisvary ans =
does not ke yellow or orange. The ==
wihi Hkees red teaches Pnsics, Folas—
e5 French and bkes Blue The coz s
teaches English like Pink. B 1#ae
Maths and ¥ teaches Poocnzizgy
dpes ot lkee Red. Maths taaches S0
et bikee Vellow:.



. 1%1. Which colour is Eked by VT >
i1} Pink [2] Wit ¥
13 Orange (4] Yellow
{50 tone of these
183, Who teaches English 7
[1] ¥ 25
3R
4} Cannat be deterrmined
[5) None af thess
183 Whe ke White T
iR s
Fu v
(54 Kone of these
154. Whe likes Qrange ?
iy (s
e
" {4 Canmot be determined
151 Mone of these.
188, Which of the followioyg combdné
tienas g2 definitely correct
# [1) Fed - T- Physics
[Z Fink - Li- English
(3] Red s 5 - Bspchobagy
8] Yellos -U- Blalagy
.. 15 Mone of thess
IMrections (158-160) : In cach
of the questions ghen betow which one
of thie Frve answer figures should come
after the problem: fgures if the se-
gueinct were continued 7

158, Problem Figures

X[ [ [8]

Answer Figares

aipaipeipeipe

T @ ()
157. Problem Flgeres

R IR
0|8 =11 =
I o

(LT 1 I ¢ N I

& [=

Tl

-

o

ki

|t=

I=

-

“:ﬁ::’r';‘*'f:*‘:ﬂ
h E0. Problem Figres.

k

= | —i
EEEE T
A

[
e e

TS
COMPUTER ENOWLEDGE/
MAREETING APTITUDE

161, Froper Marketing regquines —.
1] Flamning
2] Symipathy
(3l Enonwledge of products
(41 (1] and [2] bath
= 1] and [3] bath
182. Markel nformation means
(1) Enowhedge of companies
& Ty~ country information
Fil &mﬂ!ﬂ# af related mar-

19} Selling to existing custormens
15 Moae af theye
183, Relabonship Selling means
{1} Preparing a st ol
2] Cross- selling
(A Selling ta relatives
4] Selling i strangens
i5) Tele marketing
1. Qualities of a good Sales

| Thare i ma need far H.ul::t
Research
rarketing and Selling are
(L) Mt reduired i pralif is high
[ Mot peguibzed i gakis are high
¥ Nod required in monopelistie

comdlitions
14§ All of the above

»# 18 None ol these
168, 4 Faof Markeling means -

i1} Primary Marketing tech-

]

SIEREE.
1% Persin, Place, Produst and
Promation

13} Promating Authority
M) Purgess, Place, Passion, and
Prigliael

(5] Nonz of these
168, Hmtmmm
(1) Dviding the markel miovas-
lois gronspss
18 Segmeniting by ags
13 Segmending by tastes

(4) Segmenting peographically
(5 Al af the above

170 DEgital Marketing means - {lind
ihe coreectoption)
(1] Selbng with calculators

(o) H-Jml.hgnt’ﬂgl.l.ulrﬂnr

i ?«Hﬂ:-l-tmi through Ioternet
and Telephanes

14) Export Anance
{8 Non= of these

171, Cusioomer DalabAsE MEAns :

Marketing Plans are used for

[} Didng Rescasch by Market-
Ing students.

(% Plarming Departments

13 Purchase of consumable
i Froan petall outbeds.

8 Al of the above
161 Mome aof thess
174. Customer Databass 12 used
by_.
L} Inidhicliiala IZHMI;II.I-H-I':D'I!-
(3 Budders.
(4) Marketlng experts
(5 Mone of these
178, Customlsaticn means

(1] Designing products o suil T
ConmpEny

12} Designing sirategios to suot
ithe

1] Demigning products fo swit
indbridual customens
4] Adlof the above
13l Mone af these
178, Froduct mix means
|1} Destribauging a mibcof prochucts
12 Colleciing ideas to sell better
[ Satisfying the customers
{4} Bundle of produets reguired
by the customer
1B Various products destgned by
the Compary
177, Selling akills are judged by
(1} Number of goods =ald
12 Amount of profll earmed
134 Nusnber of customers can-
werted
3 All o thir aboye
By Mome al these
178, Fural marketng invalves
(1} Sefling b rursl Banks
[ Selling by maral banks
[% Selling to rural custamers
4 Areanging industral exhibi-
s

8 Al af the abowe
178 Direct Marksting bs neceasary for
(1) Having a focwssed approach



‘o marketing
(2] Boosting sales
(3} Better customer contacts
{4) All of the above
{5} None of these
180. Marketing of Internet Banking
means

1) Meeting of Banks on the net
v {2) Net practice
{3) Marketing the usage of Banic-
ing transactions through In-
ternet.
{4) Transactions with forelgn
countries
(8} All of the above
181. is when the more pow-

er hungry components, such as
the monitor and hard drive, are

put in fdle:

{1} Hibernation

{2) Power down

[3) Standby mode

{4) The shutdown procedure

{5} Mone of these
182. Hard disk drives are considered
storage .

(2) Nonwvolatile

(1) Flash
() Temporary
(4} Nonpermanent
(5] None of these
183. The key and the ___
key can be used in the combina-
_ Hom with other keys to perform
shorteuts and special (asks.
. {1) Control, Alt
[2) Functicn, toggle
[3] Delete, insert
(4) Caps Lock, Num Lock
(5) None of these
184. The most commeon input devices
are the and the ___
(1) micropheone , printer -
{2) scanner, monitor
(3) digital camera, speakers
14} keyboard, mouse
(5] Mone of these

185. To save an exlsting file with a
new name or to a.new location,
vouz should use the Corm-
mand.

{1) Save

(2) Save and replace ;

(3) Save as

(4) New file

(5} None of these
186. Which type of softva

es the compu

other computer components Is
the

(1] Motherboard
[2) Coerdination board
(3) Control unit

+  [4) Arithmetic logic unit
(5) None of these
188, Something which has easily -

understood mm-mﬂona la said
to be

i1} User t‘rll:ndl}-

(2} Information

(3} Word processing
{4) leon

(5] MNone of these
189, In a database fields

store numbers used to perfor,

calculation .
(1) Next [2) Key
{3) Alphanumeric

{4} Numeric (5] None of these
180. Aln) ____isa combinatig

of hardware and software tha

factlitates the sharing of infor.

mation between computing de.

vices.

(1} Wetwork {2} Peripheral

(3} Expansion bpard

{4) Digital device

(8} None of these .

191. Which of the following stgl
ments is true concerning
{1} Virtual memory is the

[4) Bihary number

5] None of these

A1 of the following terms are as

‘sociated with spread sheet soft-

ware except.

1) worksheet

(2} cell (3] formuila

[4] virus detection

i5) Mone of these

194, are devices used 10
transmit data over telecommmunk-
cations lines. )
(1} Drives (2] Drives bays
(3) Modems (4} Platforms
i3} Mone of these

198. A isapproximately oné

; billien bytes.
(1) kilobytes (2] bit
[3) gigabyte {4) megabyte
(5) None of these

186, A repair for a known software
bug. usually available at no
charge on the internet, is called

am__.
{1) version (2} patch
(3} tutorial [4) FAQ

{5) Mone of these

197. Computers gather data_"rhicL ‘
means that they allow users

data. !
(1) Present {2) Input
(3) Output {4) Store

(5} None of these
198. Which of the following terms is
just the connection of networks
that can be joined together?
(1} Virtual private network
"i2) Internet (3} Intranet
{4} Extranet
{5} None of these
is a form of permanent
agy that holds all the in-
s the computer needs
dpes not get erased
pher is tumed off.
ork Interface Card

PU (3 RAM

Zervers are computers that prn—
vide resources to the other com-
‘puters connected toa

(1} Network

{2} Mainframe

(3} Super computer

{4} Client

(5] None of these
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46. (4] She gave him a hug to express Look at the sentences :

1 2 1

her love The sauce 15 mostly cream. 85. (3 7=3+ 8 “'4“'E - 1“5
- 47. (2) The woman's eidest son lived We are mostly out on Mondays.
abroad. 54. (3} Here, the subject of the sen- 1 2 4
48. (3) The meaning of the word Left “ience is Singular. Hence, Singu- =[3+4-1+|g + 3 1]

(Verb) as used In the passage is : lar Verb should he used,
to remain te be used, sold ete. §5. (2) Here, there iz an error of DLf-8 7 7
Look at the sentence : preposition. Hence, il is proper =6+ [1—2“] G+ 12 =6
Is there any tea left ? to use 'ways by (throngh) which'. 12

56, (1] Every loan B6. (4) ? = (63251 + 52894) - 376

_They are fighting to save what is

left for their business.

The word Remaining (Adjective}
means | still needing to b-e done

or dealt with.

. Look at the sentence :

The remaining ten patients were
transferred to another hospital.
Hence, the words left and re-
maining are synonyrmous.

49. (1} The meaning of the word

Packed [Adjective) as used in
the passage is : extremely Tali of
people: crowded; containing a lot
of a particular thing,

Look at the sentences::r
The book is packed with infor-
mation.

The restaurant was packed.
Hence, the words packed and
filled are synonymous. ©

~ BO. (2} The meaning of the word De-

jectedly (Adverb) as used in the

passage is : unhappilj.r and dis-

appointediy.
Eook at the sentence :

She dejectedly left this place af- |

iter losing the game.
Hence, the words dejectedly
and happily are antonymous.

Bl. [4) ‘As ..... as Is used as an Ad-~

verb when we compare bwo per-
sons or articles or situations,
Look at the sentence :

He does not play as well as his
aister.

Hence, ‘gs we expected’ should -

be used in place of ‘than we ex-
pected.

B52. (3) Here, cause or reason has

been expressed. Hence, it will
be proper to use ‘because of/
due io—not using’ in place of 'by
not using.

57. (4] taken up at.

B8, [5) Mo correction required
B9. (3) Considering

80. (2) who knows how

61 (3C

62. (1] F

63. (5 E

Gd. (4] D

65. (2] B

66. [5) All Correct

87. (3} Replace ‘caring’ by ‘carrying’
according to the sense of the

sentence.

68. (1] The correct spelling is — re-

vised.

69, [2) The appropriate word wou]d

be — quite.

70, (4] The appmpﬂate word would

be — final.
7L, (1) forward
T2, [2) sent
73. (4) taughl
T4. (3) this
75. (Blvaluable
76. (1) opportunity |
77. (2) extent
78, (3l hobby =
79, (4] instead of
80. (5 buy

560
_ a5 ey
81. [5) 7 = 963 + 35

=863 + 16 =979

14400
82.57= 5449

83.(4) 7= 14.8 x 12.3 x 8.6
= 1565.544

45
B‘Lﬂ]?iﬂx*"-?x—_

= 116145 - 37624
.= TBE2]
51
87.(5) 180 =« E 452 = 2000 -1

= 1377 + 452 = 2000 - ¥
= 1829 = 2000 -7
= ? =2000- 1829 = 171

595 x BB 372 x 43
100 - 100
= 404.60 - 159.96 = 24464

BB. (1) ? =

35
89,02 ?x - =2175.95

100
_ 217595 x 100
= R
T x12
80. (5) 55 X 12 =252
5 o ERRROE s
== =R

91, (4) 2025 + 441 = (7)? + 257
='24eq=?@+257
= 7% = 2466 — 257 = 2209

o P e foopg = 4T

90780
82, (2) _Jr?'_ =85 x 12

. 90780
? = @sx12

* 7P =89 x 89 =7921

= = 88

93.(1) 7 ol 66.5
M7= —55"=

96263
100

= G06.06 + 7 = 900

o4.{3) ———+7? =099

= 7 x 30 = 720 x 45 = ? = 990 - 606.06 = 392.94
53. (1) Replace ‘mostly of the' by :
'most of the’ The word ‘mostly’ P LA NP 5670 x
‘means : mainly, generally. . - 30 95. (3] 100 = 1791




1701 = 100
5670

96.(1) 7= Jsgzgz,ﬁx?? =77

254
97.(4) 7= 638 + 5~ %4

=638 + 127 = 765
© 400 x B5
o0 "0 * V7
_ B0Ox 44 400 x12
T 100 100

= 260 + f7 =352~ 48
= 260 + J7 =304

#I'3N 260 = 44
S P e dd xdd = 1936

252 + 46 _ 2‘93 24
99.(2)7=gp 23 137 737
100. (3) 40 + (7P = 121-
= (7P = 121 ~ 40 = 81
=7=81=9

101. (3) The given number series is
based on the following pattern :
lx3+1=4
4x3+2=14
14 %3+ 3 =45

45 x3+4=139
138 % 3 + 5 =422
S Pmd22 x 3+ 6
= 1266 + 6 = 1272
102, (3] Let the numbers be x and y
‘respectively.
According to the question,
38 52

—_— A e
x*J00 = Y " J00

Lxry=52:38=26: 19
103. (1) C.I. =

Pﬂl‘llcip&l [[1 "%JT ) 1}

o | [[n%] - ]

= 12000 [{11}3-1]=120m {1.331-1)

= Rs. IIZDODJ-:GSBHE Rs 397‘2

104. (2) Let the present ages of the
man and the son be 23xand 13x
years respectively.
According to the question,
23x+ 13x=2 x 54
= 36x =2 x 54

2 x 54
=4y = 36 =3

s Man's present age
=23x3
= 69 years
Son's present age = 13 x 3
= 38 years
Required ratio after 6 years
=75:45 = 5: 3

105. (4)

. Time L_ellers Men
SMFﬂutasT 1 i 1 l
120 Minutes 1960 X

Where x = number of men.
120: 3 A
1 ;1980 7
= 120 % x = 3 x 1960

’ 3 % 1960
. T e 49
ve A 12&
5.1 = 100
106. (1) Rate = principal x Time

2859 = 100 i
= ““—_9530 % 8 = 5% per annum

107. (2) Let the CP of a chair be Rs.x

and that of a table be Rs.y.
According to the question,
10x 4+ 15y = 15525
" Dividing both sides by 5, wehave
= 2x + 3y = 3105
= 4[2x + Iy =4 = 3105
=5 8x + 12y = Rs. 12420
108. (3] Required cost price

100
= Rs. {Ex 1403] Rs. 1100

109, (2) Total price of the plot
= Rs. [? l5 x 3350:'
= Rs. 2752750
Booking amount

40
= 2752750 % ——
B [ mu]

= Rs 1101100

110. (4) 56 x 57 = 3192
lll.[ﬁ]‘?fﬁﬂq- 15%x8

80
=5 AEmR

- Required answer = 34
112. (4) Let the amount be Rs.x.

Sum of ratios

=4 +5+T+11=27

C’ share = Rs.1351

7

1351 = 27
7

o Amount received by A and D

[.4+11
= Rs. 27

== . =Rs. 5211

=521 1]

= m[g ><5211] Rs. 2895

Principal »Rate = Time
. 1m

58750 = 12 = 4 .
=300 =Rs. 28200

- Required amount
= Ra.[B8750 x 28200) = RsﬂﬁB&D
114. (4} Amount received by each

113.(2) 5.1 =

child =—/—— a3

115. (1) Let the number be x
According to the question,
{73 - 58)% of x = 960
= xx 15% = BB0

980 = 100
15

= Rs. 2621

‘= X = 6400
. . 6400 = 22
s 22% of 6400 = _—100

= 1408
118. (2) Let the number be x.

According to the question

X

?'39

= x=30=x7=273

. 56% of 273

273 =566

= —— = 152,88
100

e ———— aia s —



117, (5) Number of sweets given o

all stud o ﬂ
students = 55 ® 55 x 100

= 805
Number of sweets given fo 3
- G0
. teachers =_3355x'ﬁ=99
~ Total number of sweets
= 605 + 99 = 704
118, (3} Let the number be x.
According to the question,
A e (108)F = 13033
= »* + 11664 = 13033
— 32 = 13033 - 11664 = 1369

X 1#13&9 = 37

119. (3) 32% of maximum aggregate
marks = 350 - 70 = 280

» Maximum aggregate marks -

280 = 100
=—'32——=-B?5 ™
? .97
120.(6) 355 = 7
= (7)* = 388 x 97
= (7 =97 x4 x97
AP =07 w2 =104
I2ZL.{)) DATESTYLE
Lil 1Ll Ll
twsoxsoTa
Therefare,
" DELAY
L1l dld
@ T W%
122.2)

M

DETPi I_L—?P

Sirnilarhy,

123. 4]

1 35?3

P OlAjC T I Y
Meaningful Words

= RATE, TEAR

6 15 185 &
124. (3 F 0 R EH

e

14 4
WD

=

125.(5) Except the number 21, all oth-
er numbers are Prime Numbers.

126.(5) J——1—2 1

E-;1->L—{'-2—i3

J—5 43

128. (1} According to question, new
arrangement .
TE#J1IHLIKOGHTED
D2SR4a*8 ’
6th to the right of 4th from the
lefi means 10th from left, i.e.,
9.

129. (5) | Number | Symbol |

Such combinations are :

|_ai|,]1%|.[9@ | 4H |
130, {2) 5th to the right of 11th from
the right means 6th from the

right, i.e.. U.

{131 - 135) :

i All taps are wells — Univer-
sal Affirmative [A-typel.

(il Some wells are canals —
Particular Affirmative (I-
typel. '

i) Mo mango is guava — Uni-
versal Negative (E-type).

v} Some mangoes are not gua-
vas —» Particular Megative

. (O-typel.

Some wells are canals.

131.(2)
All canals are rivers.
1+ A = I- type of Conclusion
“Some wells are rivers”.
This is Conclusion I1.

132, {1} Seme papers ara books.

All books are journals
1+ A= I- type of Conclusion
“Some papers are journals”.
This is Conclusion I.
133. (3)

Some grapes are mangoes.

Mo mango is guava.

1+ E = O-type of Conclusion
“Some grapes are not guavas®,
Conclusions I and 11 form Coum-
plementary Pair. Therefore, ei-
ther Conclusion 1 or 11 follows,

134. (4) All the three Premises are
Particular Affirmative (I-type]. No
Conclusion follows from the two
Particular Premises.

135.(6) All pearis are' gems.

All gems are diamonds,
A + A= A- type of Conclusion
“All pearls are diamonds”.
This is Conclusion L.

All corals are gems.

All gems are diamonds.

A+ A =2 A- type of Conclusion

“All corals are diamonds™

This is Conclusion 11,

{136 - 140) : -

i} A\@B=A¢ B =AzB

i} A#B=A ¢ B.AzEB,
=A>B .

) A%B=A+¢ B A+ B
= A=B :

v ASB==A 3 B.=A<B

W) AxB=2A3B A»B
=A<B



136 (1) T@&V=Tz2V
VM= VeM
M¥WF=M=F

Therefore,
TzV>M=F

Conclusions

. T#M=Tz=M: True

NLT@F=T=F:Not True

137050 LEN=L=<N
N*F=N<F
R%L=R=L'

Therefore, RaL<N<F
Conclusions

LF#R=F>R:True
RSN =Rz N: True

8. (1) H#l=H=>1
18J=lzd
JE5P=J=zPF

Therefore, H>1>2J =P
Conclusions
ILH#J=Hz>J:True
II.H# P= H=>PF: Not True

199.(49) LXD=L<D
DiIK=D>K
KSJ=KzcJ

Therefore, L=< D = K <J

Conclusions

I. L% K= L <K : Not True

I.DSJ=D<.J: Not True

40.(2).Q$W=Q<W

WiHEssW=E
EGdK=EzHK

Therefore, Q= W=Ez K

Conclusions

L SK=0=< K:Not True

ILWS&K=W:zHK: True

HL41 R H M E J
e
2 4 3T @ 7

Condition {i} is applicable.

42.5) T
4
%

l43(3) M
1
T

M43 F
1
8

Condition (i) is applicable.

] == W= I T
- B o RS I
W PR = oW = R
-Pi—.‘-'ﬂ'*‘ﬁ?'-m.*-:h
W= OO D & =3

14502) A L F J H E
l 4 1 1 11
6 9 % 2 3 6
Condition [i) is applicable.
(146 - 150} :
Sitting arrangement
C
H M
D F
L K
(151 - 155) :
Friends | Subject Colour
P French Blue
Q History White
R Maths Orange
5 Physics Red
T Biniogr Green
U . | English Pink
v Psychology | Yellow |

156. (1) In each subsequent figure

the smaller segment of one tri-
angle is deleted in anticlockwise
direction and in the next figure
the deleted segment is reap-
peared.

157. {2} In each subseguent 'ﬁgure.

the pre-existing designls) movels)
one step-in anticlockwise direc-
© tion, the first and the last de-

signs interchange positions and
one new design appears behind
the pre-existing designs.

158. (4] In each subsequent figure all
the three designs rotate through
S0* anticlockwise and two de-
signs interchange positions.

159. (1} In each subseguent figure
the plane of designs rolates
through 45° clockwise and one
design is replaced with a new
design after moving to other
side.

180. (4) In each subsequent figure
the pinhead moves one step in
clockwise direction after rotating
through 20° anticlockwise and
line segment is added to the
square in a set order.

161. (5} (1) and (3] both

162, (3) Knowledge of related markets

163. {2) Cross- selling

164. (5] All (1), (2] and (3)

1685. (1) A marketing staff

166. (3) For good customer service

167. [3) None of these

168. {2) Person, Place, Product and
p ) ]

169. (5) All of the above

170. (3) Marketing through Internet
and Telephones

171. (4] Information on customers’
needs

172, [5) Selling various different items
in banks.

173. (5] None of these

- 174. (4) Marketing experts

175. (4) All of the above

176. (5) Various products designed by
the Company

177. (4) All of the above

178. (5) All of the ahove

179. {4) All of the above

180. (3} Marketing the usage of Bank-
ing transactions through Inter-
net.

. 181. (1) Hibematiors

182, (2] Nonvalatile

183, (1) Conirol, Alt

184. (4] keyboard, mouse
185.(3) Save as

186.. (4] Operating system
187. {3) Control unit

13_&. (1) User friendly
189. (4} Numeric

190. (1} Network

191. {1) Virtual memory is the space
on the hard drive where the op-
erating system begins to store
data when it becomes memory-
bound

192. (3) Binary digit

193. (4] virus detection
194. (3) Modems

195. (3} gigabyte

196. (2) patch

197. 4] Store .
198. [3) Intranet

189, (3} RAM

200. (1) Metwork



